Notes to Item 3 of Consolidated Income Statement
Basic earnings per share
The basic earnings per share is calculated by dividing the Group’s net profit attributable to members of the company [Item 2 (m)] by the following weighted average number of shares in issue during the current quarter/ current year to date :

Current quarter

:   231,589,033 shares

Current year-to-date

:   231,589,033 shares

At the end of the financial quarter, there were options of 7,711,000 ordinary shares granted but not exercised pursuant to the  Employees’ Share Option Scheme of the Company. 
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